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Steady-state Probability
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Performance Measure (1/2)
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Performance Measure (2/2)
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Time Average (1/2)
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Time Average (2/2)
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The M/M/c/m/m Queue
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Steady-state Probability
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Performance Measure (1/2)
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Performance Measure (2/2)

144

(EEI-%(%IE#%» /Ie: /ILzzp= /1(7%‘_ Lffow;z) - A;Okpm— ke

@RUIINZY W= Ead (Lieo] %)

R _% (Litlle&] X))
i A,Zokpm—}e

(=XAIHED AA-EL BA) 3] T #ATF -

7, (m)=P,(m—1)

13



MY/ M/1 7|8 B AL TEo] Bt Folbulyg o7 wabE

MU 2AZEe ASEEE w2t g7|gEgAsdolt, TASS § §a Aus v,

Atz o 2 uAEo] Yo B TAS= t)7|PES JEEA t 7|3 & (batch arrival queue,
bulk arrival queue)o]gli F-Et}

14



State Transition Diagram 5
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Steady-state Probability
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Performance Measure
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State Transition Probability
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Stability Condition
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Steady-state Probability
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